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(1) w=aze" (a>0), (2QJw=2z"(n= 5), (3) w=—5ilnz+3z, (4) w=2z+3Inz
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v =avy+5y* + f(2), ¥ =-g2% —duy+ f(y) = azy - 527 + f(y)
1
Y = axy + §(by2 — cx®) + const.
0 0 b
For irrotational flow, au _ —U, b=c, ¥ =ary+ =(y* — 2?) + const.
dy Ox 2
2.

(1) Parallel flow with 8 = «
w = ar{(cos(0 + «) + isin(f + «)}
p=arcos(f + ), =arsin(@+ )

dw io .. )
— =ae" =a(cosa+isina) =u— v
dz

u=acosa, v=-—asina, V =a

(2) Corner flow with 6 = 27

z=re" w=p+ip=rem =

7" (cosnd + i sinnd)
p=r"cosnf, ¥ =r"sinnd

Forn= %, cp:rl/zcosg, P :rl/QSini

(3) Parallel (U=3)+circulation(I" = 107) flow

w = —5iln(re’?) 4 3re® = —5Inr 4 50 + 3r(cos § + isinh)
@ =050+ 3rcosf, 1 =3rsinf—>5lnr

(4) Parallel flow(U=2)+source flow(Q = 6m7)

w = 2re? + 3In(re?)

@w=2rcosf+3Inr, ¢ =2rsinf+ 360
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